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What are the reasons for high birth rate and low death rate in India ?
OR

Explain the nature of population problems in India.

What measures are taken for population control in India ?

Give the answers in one sentence. (Any Four)

What is the birth rate ?

What is the relation between education and birth rate ?

What is the death rate ?

How does higher status of women effect the population growth ?

How many population in India according to 2011 census ?

Why is the year 1921 described as the ‘Year of Great Divide’ ?

Explain the characteristics and problems of industrial labour.

OR
State the social security measures taken in India.

State the causes of industrial disputes in India.
Give the answers in one sentence. (Any Four)
(1) What is labour ?

(2) How is the velocity of labour in India ?

(3) What is the relationship between wage rate and supply of labour ?

(4) Whatis the marginal productivity of labour ?

(5) What is the division of labour ?

{6) Whatis the industrial dispute ?

State the meaning and needs of economic planning.
OR

State the various types of planning.

Q —3(A) describe the achievements of planning in India.

Q-3(B)

Q-4

Give the answers in one sentence. (Any three)
(1) What is the economic planning ?
(2) What is the self dependence ?

(3) Do you believe that the econemic planning is helpful for economic development ?

{4) What is the main ohjective of Indian economic planning ?
{5) When does the first five year plan started in India ?

(A} Examine the changes in the composition and direction of India external sector.

OR

Q —4(A) Write a brief note on IMF.
(A) Write a brief note on World Bank.
Q-4(B) Give the answers in one sentence. (Any three)

(1) What is Exim Policy ?
{2) Whatis the deficit of balance of payments ?

(3) Which three dimensions are used in Human Development Index ?

{4) What is the full form of ADB ?
(5) Whatis FDI?
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